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Th' 7 9% ELEES: DNS




BF
100m

P4 LL—XR
E{z| No. K 4 R E AT iE® ek (E) i g4
1] 8090|fF%& #B(2) FH .62 (+1. 1
2[ 7702 E.ﬂi F®) L EWER .65 (+1. 2
3| 8014|H%E mEH (3) HbR .67 (+1. 3
4] 4257( K% R 3) i kad ] .12 (1. 1
5| 8163[3kE A (3) = 15 (1. 2
6] 5623[/hk i (3) =it .16 (+0. 1
7] 6471[=T #th (2) ERILE 17 (1. 3
8| 57M1{EH B Q) 1#7B1E 19 (+1. 4
9] 8018[%: %31 (3) Hbm . 80 (+0. 2
0 74221l 15 (2) $REE .84 (-1. 4
1| 5102|E K A (2) h B . 87 (0. 1
2| 121K #RE (2 =% .89 (+1. 5
3| 6163[#7RT 5k (3) EXMEES .93 (-1. 5
4] 7151|=H E& Q) 1EY] .95 (+1.
5| 6296|F4t i (3) AEH .99 (+1.
5| 7215[FE EEHQ) =% .99 (+0. 3
7] 6892[F EZK (3) —8& 2.01 (+0. 4
7| 4085|FE EAS (3) FR 2.01 (+1. 6
9] 7047[5kxFH Dh = (2) /A 2.02 (+0. 5
20| 7483|3%iE Rih (3) EXMEIRA 2.05 (+1. 1
21] 7583[#h K3 H@Eiﬂ 2.06 (+1. 2
21| 6830[ K% FEXEA(2) 2. 06 (+0. 6
23| 5320[#4 M Z& (3) ﬁﬁllli}ﬁﬁ 2.08 (+0.
24| 4183|FE 8% (3) 2A 2.09 (0.
25| 6717y B (3) =40 2.10 (+0. 7
26) T246|'RE BA (D) REH 2.12 (+0. 2
26| 4188|F# EE (2) 2A 2.12 (+1. 3
28| 8833[#AiFE fEER (3) HER 2.15 (0. 2
29| 6456[ 1 BERZ (3) 54 2.16 (+0. 3
30| 7872|H% Kih(3) FHEE 2.20 (+0. 4
30[ 4124[51H BA(2) APY 2.20 (+1. 4
32| 4145|F31 R1E(3) AL 2.22 (0. 2
33| 4636[7%H BHEE (2) LTHE= 2.24 (0. 3
33| 7043[#fH JEEE (3) /A 2.24 (+1. 5
35] 72300 A (2 B 2.25 (+0. 5
36| 8368[LLE IHZE (3) TEARI 2.29 (+1. 2
37] 7245(#ER AKX (2 REFF 2.30 (+0. 6
38| 8400[#:#f EIR B 2.33 (+1. 3
38| 84b4|&ER %(2) Br B = # 2.33 (0. 3
38| 7857[ME =KX (3) Eig 2.33 (0. 4
38 4151[=iE BA (2) AL 2.33 (+1. 6
42| 4082[{£/%E WAE (3) R 2.35 (+1. 1
43| 4646[RER $B— (2) LT HFEM 2.37 (+1. 8
44| 7286(7E;R # (3) ZEH 2.38 (0. 5
45| 6631[#k [EH (2) 2f4dt 2.41 (0. 4
46| 5400|=1E #EE (3) HNET 2.42 (+0. 1
47| 7373|4H EZ (3) #2)Il 2.43 (+0.
48| 6563[E0 EAR (1) Ee R 2.47 (-2
48| 5090(FG;FE &KX (2) e 2.47 (0. 5
50] 4484|@Ah # (1) HF 2.54 (+0. 8
51] 8759|411 [=i#E (2) k& 2.57 (-0. 6
52] 7289[MH%ZH EE (D ZEH 2.58 (+1. 4
53| 6479|F IEEE (1) B R ILEE 2.59 (0. 6
54| 8175[m %t KF0(3) 5= 2. 60 (0. 1
55| 5078[fTH BEX (3) EE 2. 64 (-2. 2
56 5914[#NZE AR (2) =i 2. 65 (+0. 2
56| 8034[ith b ik (2) HiR 2.65 (+1. 5
56| 4480[1EH H#E (3) HF 2. 65 (0. 1
56| 8834[EE EAX () 4] 2. 65 (0. 8
60| 7144|585 =18l () B Ak 2. 66 (-0. 1
61 7843|F#%k BE (2) EIg 2.69 (-2. 3
61 82413 £l (1) Pk 2. 69 (0. 8
63 6412|#.E B4 (2) ER 2.70 (+1. 6
63| 7170|#% %5#E (2) = 2.70 (0. 9
65 7587|#EIL EEE(2) if] 2 7 &1 2.74 (-1. 1
66] 6152|ETH RE&E (3) EXMEES 2.75 (=2. 4
67] 74010 3 (2) SR H 2. 77 (=2 5
68| 7288|%E FRE (D) ZEH 2.78 (-1. 2
69| 7285|HF FFth (3) ZEH 2.79 (0. 9
70| 8250[F A i (2) B 4 AR 2.81 (-2. 6
71] 5880\ H = BHZ (1) /RS 2.82 (-2. 1
12| 8022|F% XE Q) HER 2.88 (-1. 1
12| 1873|:FK KiE(2) FHEE 2.88 (-1. 3
72 7634|3718 EELE (3) if] 2 R &f 2.88 (-1. 4
75 8821|/hvE iMF0(3) Pk 2.93 (-2. 8
76 5393|KfF BE (3) HINET 2.94 (-1. 1
76] 4483|=/R mA(3) HF 2.94 (+ 1




BF
100m

_lEt‘z A ERFE FiRA B (A {i& 48 |IEHr
7458 INER ENAEE (2) EXKERE 2.96 (-1. 19 2
79 8718|fwi& = (2) iﬁﬂi*ﬂ 2.98 (-1. 21 2
80 7378 E%EE HE () 2 3.01 (-1. 0
81 4645[75M [EA () FTAEm 3.03 (2. 7
82| 8131|+=E WA (2) R AR 3.06 (0. 5 2
82| 4397|F:E &% (1) EXEE L] 3.06 (0. 5] 3
84| 7374[%H EA(3) 21 3.07 (=2. 6 1
84| 7196|ksx 2%h (3) = 8 3.07 (1. 8 5
86| 7435[iF/K 8 (1) #hR% 3.11 (0. 413
86| 7111[HIT #(2) BA R 3.11 (-1. 2 3
88| T110[=A K#E(2) BABL 3.12 (-1. 2 4
88| 7413|5# BHI(3) R H 3.12 (-1. 18] 6
88| 7490[ 1Lz B A (1) EXKMERE 3.12 (-2. 20] 9
91| 8832[F8 == (3) T 3.13 (-2. 7] 2
92| 8406|m#E FiE (3) = 3.16 (-1. 91 3
93| 7242ERE #E (2 REF 3.17 (-1. 8| 17
94] 6897[EIEIR 1&# (2) & 3.18 (-2. 713
95| 8164|FH# HEEQ) = 3.21 (=2 6 2
96] 8403[%i& i:‘ru @ =25 3.23 (=2, 6] 3
97] 5636 :Ffz A (2) =it 3.24 (-1. 21 5
98] 5399|KE 1*°$ﬁ (3) HIET 3.25 (+0. 4 4
98| 6677|=:F f1E (1 k€ 3.25 (-2. 6 4
98] 7400 zﬂt 10 FdE] 3.25 (1. 9 | 1
98] 7963|=:E Efth (2) RE 3.25 (2. 6 5
98] 7348|ZEmk Mt (1) 21 3.25 (-2. 6 6
98 6463| E1E #EX (2) I5d 3.25 (-1. 21 6
04] 8404|HAf FIE (2 =25 3.28 (-1 9] 5
05| 7225[m% M@ 3% (2) EE 3.29 (0. 2 1
05| 7172|#%H {Z(2) = i 3.29 (-1. 9 6
07] 8414[:Z4 $3(3) SRE S 3.31 (-2. 7 4
08| 7959[#AH EA (2) RE 3.32 (+0. 3 1
09| 7112[1FA B&A(2) BA R 3.33 (0. 4 5
0] 5640/FK =2 (1 =it 3.34 (-1. 0 2
1175010 #isk (1) = 18 3.35 (+0. 3] 2
539628 M 7=F9 (3) HIET 3.35 (+0. 416
3| 5290(.E% ZERF (1) AR LR 3.36 (0. 5 4
3| 6474|F%5E fEH (D BRILE 3.36 (+0. 4 Ji
3] 6320[/h#8 3L (2) A S HT 3.36 (-1. 21 Ji
6] 6457|BHIR EE% (€] 54 3.37 (0. 15 5
6] 8049[{FmE & (2) P & 3.37 (-1. 29 6
6] 6723|@/E iEHE (3) =45 3.37 (-1. 8| 8
9] 8247[#A M) Pt 3.38 (0. 5] 6
20| 7964[o0A" 2ESH 77 Y1) (2) =E 3.39 (+0. 3 3
20) 81770 EHWM @ E 3.39 (+0. 3 4
22 T159[HA HEE) 1in 3.40 (-1. 9 Ji
22| MNNER 15E (2 = 3.40 (-1. 21| 8
24| 4106]4#84+ 81K (2) BiR 341 (-1. 81 9
25| 8285[{FH EKFEH Q) B 4 AR 3.42 (0. 5 Ji
26| 6880[ss= AAts (1) ARTE— 3.45 (+0. 4] 8
27| 6633[+F & (1) EXCER 3.46 (-2. 6 Ji
28| 8251|KiEk 21 (2) B 4 AR 3.51 (+0. 3 5
29[ 5384 M (2) HINET 3.52 (0. 5 8
30| 6898|FHH EE+th(2) ZHEE 3.54 (-2. 1 5
31| 8263[11#t B2~ (1) B 4 AR 3.55 (0. 2 2
31| 7419[KXH 4t (2) JXH 3.55 (-1. 0 3
31| 6465[5FK EK (2) I5d 3.55 (-1. 0 4
31| 7050[FrER BE4r (1) L] 3.55 (+0. 3] 6
35| 6822[iT;® #ABAQ) BE 3.57 (=2. 7 6
36| 7240[F {6#5(2) REH 3.58 (0. 2 3
36] 7961[;thM [ (2) RE 3.58 (=2. 7 Ji
38| 6483|AEH EF& (1) iﬁﬁf"ﬂﬁ 3.62 (0. 2 4
38 5100 fiﬁfiﬁ [E=A0) PET 3.62 (+0. 3 Ji
40| 8238|8RE A3l (2) 5‘1‘% 3.64 (-1. 2 9
41| 6466[EF #hiE (2) 3.65 (0. 1
41] 7491 sz (1) 1.:.7([!111:'*’ EN 3.65 (-2. 8
43 T212]/Bk (HEE () = 3.66 (0. 2
44] 6834[#.1L BAtH (1) BE5 3.67 (-1. 1
45| 7083|RiR FHt (1) ne 3.68 (0. 3
45] 7588| FH £ (1) fiE] 2 76 &1 3.68 (0. 4
47] 7381|Fm@E #7(2) JXH 3.69 (0. 5
48] 5916|F#+ R (D Eg 3,72 (+0. 5
48] 7002|FEA sk (1) L 3.72 (+1. 6
50] 6283[% O S (1) AZH 3. 74 (-1 0[ 5
50| 8255[:%:E i (2) B 4 B 3.74 (0. 3] 8
52 8002[1LhiC #+th (1) Him 3. 77 (+1. 6 2
52| 4647[{F& EH (1) LT HFEM 3. 77 (0. 2 5
52| 8245[/#k HEE (1) D 3.71 (0. 6
55| 7992|3R7E BAER (1) Hof 3.81 (0. 7
56| 8186[{FmE & (1) 5= 3.85 (-1. 2
56] 7495[1EfE HEiE (1) EXKERE 3.85 (-2. 9




BF
100m

_IEﬁ KE & R R iE® ek (E) {i& #H (I
8244 AT B Pkt 3.86 (+1. 8 1

58 6470( =41 i (2) ERILE 3.86 (-1. 10 6
60] 7385[#EK RKX(2) JXH 3. 87 (+0. 51 2
61] 7498|FE:E HHt () 1:.7(“11 WA 3.90 (-0. 21 6
62 7775 *E:Ej *EE( ) uﬂiu 3 91 (_ . 0 7
63 6564|;FFE - (1) BEER 3.92 (-1. 9 8
64| 7235|# % Eidh (1) =5 3.93 (+0. 5[ 3
65| 5409|%8:F & (1) HNET 3.94 (-1. 9 [ 3
65 8103|@kst A+ (1) FIBEER 3.94 (+0. 5 4
67 6478|+AH &% (1) ERILE 3.97 (0. 15 9
68| 7391|&HE X#i () SR H 3.99 (+0. 7 1
68 6469ithy =X (1) 54 3.99 (+1. 6 3
70[ 8170|ARA BE (D) 5= 4.01 (+1. 6 4
1] 629310 F(3) AEH 4.05 (+1. 8 2
71 5406|@A B517 (1) HINET 4.05 (0. 12 Ji
73] 6651 |=M #AX ) EXCER 4.08 (+1. 8 3
14| T49414ZF K—(1) EXHBERA 4.11 (0. 11 8
75| 4681\ & Mkl (1) J:EEEﬁ 4.12 (+0. 7 2
76 8816|8JIl EA () FHRFE— 4.14 (+0. 7 3
16| 7006|548 #& (1) {EBH 4.14 (-1. 9| 4
18] 8243|/FH &2 (1) Pkt 4.15 (+1. 8 4
78 7770|411 FiEE (1) mEh R 4.15 (+1. 6 5
80| 4682[# HE (1) LTHER 4.16 (+0. 2 1
81| 4394[dhE 1&& (1) EXE S 4.19 (0. 12] 8
82] 7998|FAR F¥ (1) 4] 4.20 (+0. 7 4
83| 7965[HA FEA(2) |¥54 4.22 (+1. 6 6
84| 6704|EER H.F(2) =40 4.23 (-1. 9[ b
85| 53b3[/NVEE FH (2) Al Ed 4.24 (-1. 10 8
86] 7053|@E;E R (1) B T 4.25 (+1. 6 Ji
87] 5094[2)1l () e 4.26 (-1. 9 6
88| 6832[{FiE KHR (1) BE 4.28 (+1. 6 8
89| 4395[{£@E ZEH (1) B 4.35 (+1. 81 5
90 4607|He FE (1) LTHE= 4.38 (+0. 21 2
91| 5848|FE+t &FiE (1) B/ 4. 39 (+0. 21 3
92] 8823|A&O &7 (3) Pk 4. 41 (+0. 71 56
92| 6647|FHH XF0() EXCEd 4.41 (-1. 9 [ 7
94| 8353|5# #&£E (1) TR 4.42 (+0. 71 6
95 7081|H.1L $hiE (1) [N 4. 44 (+0. 4 1
96| 7962|h® K& (2) RE 4. 45 (+0. 51 5
97[ 4485|FE ZX (1) HF 4.46 (+0. 4 2
98[ 7003| AR+t 3% (1) (L] 4. 47 (+0. 11 7
99 6648|F+T B (1) 2%t 4.48 (+1. 8] 6
200| 8001 |Hs &— () Him 4.49 (+0. 3 1
200] 6284|mFH #het (1) A S HT 4. 49 (+0. 3| 2
202| 844418 B (1) Br A = % 4.54 (-0. 11 9
203] 5747;T0O ¥ (1) 171 4.55 (+1. 8 Ji
204 7430|FZE EAND [239 4. 60 (+0. 4 3
205 7450|sh1 = (1) EXHERA 4.61 (+1. 8| 8
206 5643|#0MA BREE (1) =it 4.70 (+0. 3 3
207] 8815/4aA A (1) LTHE— 4. 72 (+0. 14 9
208 8779|FIKRF WEZE (2) HEEER 4. 74 (+0. 5 6
209] 7966|#ATF ER (2 RE 4. 77 (+0. 4 4
209 7776|#M #MA () mEh R 4. 77 (-1. 9 8
2 7995|858 R () Him 4.78 (-0. 1 1
2 1432|538 A (1) FARE 4.78 (+1. 6] 9
213[ 7029|4342 Htes (1) /A 4.89 (+0. 4 5
214 6673|4£@ [FE (1) & 4.92 (+0. 4 6
215 T774|KF s (1) EAE 4. 94 (+0. 51 7
216] 8717|dbIR 3% (1) Hit 4.96 (+0. 5 8
217 541 |EAB &A1) ﬁHT 5.06 (+0. 4 Ji
218[ 7201|/M%p B RE (1) =% 5.12 (+0. 3 4
219[ 540 ﬁiﬁ iz (D ﬂﬂﬂT 5. 17 (+0. 3[ b
220 8000| EH #46(1) HER 5.20 (0. 2
221] 6468|#4iF &z (1) 54 5.22 (0. 3
222( 7954l FEE (1) RE 5.23 (0. 4
223 4679|dt# # (D) LTHER 5.27 (+0. 4 8
224 8050/ KK BE{~(2) EER 5.35 (+0. 2 4
225 5852|FH BEF (1) &/ HA 5.39 (+0. 2 5
226| 7280|H.1L fifi (1) ZEH 5. 40 (+0. 21 6
227 7562|=3% A1) fiE] 2 76 &1 5. 41 (+1. 81 9
228[ 7232|/v#k 3CHn (1) =% 5.56 (+0. 2 Ji
229 7118|%F 8 B3l (1) BH Ak 5.58 (+0. 3 6
230[ 6630[LIMA %1 (2) 2%t 5. 63 (+0. 2 8
231 4396|FZ@A BBE (1) {ENER &R 5. 70 (+0. 5 9
232 T344|=e EF (2) 2| 5.97 (+0. 3 Ji
233| 7355 |8k I« (1) el 6.18 (0. 5
233 6071 F i@ (1 t=£ 6.18 (0. 6
235 7496|AM & () EXHBERA 6.47 (+0. 8
236 7999\ EABR (D Him 6. 72 (-0. Ji
237 6282|=RE AR (1 AEH 6. 77 (0. 8




BF
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UEfz| N K 4 R E AT E#& g% (AE) i #H [IEfr
238 7991 & BA (1) Hif 6.84 (+0.5) 3 8
239| 5915|X/ME #F0 (1) =i 6.92 (-0.5) 1 9

6073[;E:ZF FAA (D t=£ (+0.5)[DQ 3
48941511 7 (1) =i (+0. 8)[DQ 4
4330(5# FF ) SE (=0. D[pa 12
8839|&HE () Hif (+1.3)[DQ 22
1953|858 H=H () |E54 (+0. 7)|DNS 2
7476 AL IE & (2) EXMERA (+0. 3)|DNS 7
5844[h B B#E (2) E/#E (=1.9)|DNS 9
6458| F1& RI(2) s (-1. 3)[DNS 0
5645|78;E =18 (1) Hit (+0. 5)|DNS 3
8392| &5 HH Q) B (=2. 2)|DNS 6
6636 [#AIE K% (2) XS (=2. 2)|DNS 6
1773|{R#% B33k (3) mEh (-1. 8)[DNS 9
8160tk EBIEQ) 5= (+1. 3)[DNS 22
4187/ #k EEZE (2) EZ] (+0. 2)[DNS 27
6459| %1t ;/_3(2) [ (+1. 4)[DNS 28
59044 KIE (3) =i (1. 3)|DNS 29
8777[dhiE % (3) HEEER (1. 3)|DNS 29
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GREE [6H228 [15:35]
200m
REFFR 256 (CR) 21. 8¢ /MR K —®& 2016/07/03
R
[ 1#8] &k -1.3 [ 2#48] [k -2.2
JE V-v| No. K 4 EA R wE | JE L-»| No. KE 4 EA B mE
1 7| 4678 £F #(2) 26.52 1 5/ 4090 #R1Z HE (3) 25. 64
s ads THRFER LY WEVEN iR
20 9 7105/ EiF =E(Q) 27.35 2| 3 5398 EA L= () 25. 87
33V h Yavhq [N A7 2137 HNET
3| 8] 6475 #IE = (2) 27. 91 3 8 4294 {kmE BAQ) 26. 47
MNAG Y39 ERILE #b9 Yans INEER
41 3 7462|%E K (2) 28.48 4 2 8025 A% HE (3) 27.14
U ¥Th IEPNIE1AN 19/ yaun =7}
5 6 5405 8&Z KE () 29.17 5 7 6280 @& Tadk (1) 27.15
7Y 47 antq HNET FEL M AEHT
6 1 7107 B lEH () 29.23 6| 9 6297 1&8E Z=K Q) 27.23
LONCALELY UL Y- 793 118 AEHT
71 4 5412 B EBEQ) 29.94 70 1 6290 E#F FE£(3) 27.84
Viudivi HNET h3h3 Fiw AEHT
8 2 5414FA EJ) 30.03 8 6 4514 thft {EK(3) 28.22
795 453 HNET Thh3 f44% HFIb
5| 7082 &k FOE (1) 9 4 7858 wIl EH(2) 30.15
Y [N DQ (FS) 1507 Loy Rig
[ 3#] [k -1.2 [ 4#8] & -2.1
JE L-v| No. KE £ EA ECERRE | JE[L-Y| No. KE £ EA B8R RE
1 8 5084/ ik FIE (3) 25. 31 1 7 4880 L 5B (2) 24.83
vy v e YT AN W Hig
20 1 4088 =@ EAQ) 25.35 21 3 6866/ mE FKX(Q) 25. 47
%3 44 iR WD Yavs 4 KETE—
3 2 5092 {kEE BEZzi6(2) 26.56 30 1 6291 @mA #£03) 25.52
#9319/ HE 49" F Yy AEHT
41 7 7423 LA BXQ) 26.59 47 9 T195/ZEM@A Ki&E Q) 25.74
Ty 144 2323 bk 54y =i
5/ 9 4084/1FEH FH4& Q) 26. 60 5 2 7052 bt EEK(1) 25. 91
Ik 4 9444 iR Thh3 Y1vy B BT
6] 6 4168 B HFEQ) 26.82 6 6 7103 ¥R HMAQB) 25.92
YFY Yagaq EAR Y Yavs LR
71 5 4391 %M HH Q) 26. 89 7 4 4128 mH BB () 26. 25
A9 a%% ESEES: 14 Ny A
8 3 7586 =:Z (2 27.08 8 5 4083 B® HRFEWQ 26.29
9 a9 [ & 5 EB Vaa ik i iR
9] 4 6160 IIE £ Q) 27.23 9 8 4513 /L % (3) 26. 31
WINg vty EXHERES W9 tn HFE
[ 541 JEk -0.4 [ 6#] [k -0.3
JE L-v| No. KE 4 EA ECER & | JE|L-Y| No. K £ EA B wE
1 7| 5101 L% BR—ER (2) 24.32 1 6| 7887 x& HEF(3) 24. 66
Yo £ yo4Fan | hEE LKAV FEHEE
20 6 8121 %A ¥»¥ (3) 24.85 2 4 5126IA i\ Q) 24.75
kY F Yy FABEER 7 F 453 b
31 2| 56213 EH () 24.92 3 9 T193 &F %3 (3) 24. 86
vhng tb Hit h#a b9 =i
41 8 TI01|[E@E 3k (Q) 25.09 41 70 7077 HE BA¥(Q) 24. 89
NG Ay 5] 195" 744 JEHET
5/ 5 6488/tHF R&EQ) 25.50 5 8 6721 HK #£%(3) 25.08
£V h5 29 ERILE TH¥ Yavah =45
6| 3| 6824 IE () 25.79 6 2 TM2 ik BHE(3) 25. 31
1/ ka9 BE an Ty 744 K E
4) 7448 k3 IR (3) 7] 5 8826 itht BWE () 25.76
T bt 7324 DNS A3 Yagx Dk
9 4079|#iE BEAHOQ) 3 56301 HE (D)
7447 19409 iR DNS ¥b9 1% Hit DNS
[ 741 &% -0.7
JE L-v| No. K £ EA B8R RE
1 2 5496 k¥ Kith(3) 23.59
33 8AF EHERE
2| 6| 7362 & i (3) 23.717
731 MYh Il
3 5 7421 B HF () 23. 86
ThY' 9 714 7323
4 3 M4 BER L Q) 24.08
7N Y% E[M
5 9 5391 = HE Q) 24.28
vay agtq HNET
6 4 7416 A ZK Q) 24. 67
AT av8 4 JEH
7 8 4122 {kmA Enrt(3) 24.76
35 b BA
8 71 8413|miE BRQ) 26.12
IVEELL £ = 0%




BF

200m

A A LL—A
IEfz{ No. K 4 mES aoex () [ e £ IEE
1] 5496|/KEp Kih (3) EHEEL 23.59 (-0.7) 7 1
2| 7362|%Rm4 A (3) FEJI 23.71 (-0.7) 7 2
3| 7421[hi8 % (2) FAEE 23.86 (-0.7) 7 3
4 4141 8ER BEE (3) & 24.08 (-0.7) 7] 4
5| b391[Eik HZ: (3) HET 24.28 (-0.7) 7 5
6] 5101[ L% Fa—ER (2) I 24.32 (-0. 4) 5
7] 1887[%EBE HEF Q) FTHEI 24.66 (-0.3) 6
8] 7T416[#EH ZEX (3) JEH 24.67 (-0.7) 7 6
9] 5126[;TA #iE (3) I 24.75 (-0.3) 6] 2
0] 4122|4&HBE EM (3) A 24.76 (-0.7) 1 7
1] 4880\l 53 (2) =i 24.83 (2. 1) 4 1
2( 81218800 Yv¥ (3) FAEER 24.85 (-0. 4) 5 2
3| M93[£F %3 () =i 24.86 (-0.3) 6 3
4 7077|F A BAH (2 JEET 24.89 (-0.3) 6 4
5| 5621[IFER EH (2 Hit 24.92 (-0. 4) 5 3
6] 6721[FXK &5 (3) = 25.08 (-0. 3) 6 5
7] _T101[{[RE 48 Q) FiRER 25.09 (-0. 4) 5 /
8| 5084[/ ik FIE (3) HE 25.31 (-1.2) 3 1
8| T42[/ R BHE Q) JEH 25. 31 (-0. 3) 6 6
20[ 4088|=;:# ;EX Q) iR 25.35 (-1.2) 3 2
21[ 6866[#\:E K () KRBT — 25. 47 (2. 1) 4 2
22| 6488|+H R&F Q) ERLE 25.5C (-0. 4) 5 5
3| 6291({mO # Q) AEHET 25.52 (-2.1) 4 3
24] 4090[#RE =& 3) iR 25.64 (-2.2) 2 1
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4L B3| Fon - K % g4 -1- | -2-  -3- 0% e
1 37 4303 {E4K Ez(2) 5.68 5.69 5.81 5. 81
HE 1)19/28 INEEER -1.7 -0.2 -1.3 -1.3
2| 42 5395 &ER Eth (3) 5.7€¢ 5.73 5.59 5.76
™ 371 HNET +0.€ +0.2 -1.€ +0.6
3| 38 8028 fE:E %3 (3) 5.3C 5.18 5.59 5.59
7% 19k = -0.8& -0.3 -0.€¢ -0.6
4 41 6590 H3E EZ Q) X 5.44 5.1¢€ 5.44
TE EOL b= +0.( -0.7 +0.0
5 22 7375/FK &K (3) 5.4C 5.24 5.1¢ 5.40
YA a9h Il +1.1 +0.C +0.1  +1.1
6/ 40| 4676 7 {£35(2) 4.7C 5.36 5.37 5.317
VAV, AR -0.8& +1.1 -0.9 -0.9
7 30| 5725 FFE 1%(2) 5.1¢ 4.79 5.33 5.33
yng 19 E1E -0.2 +0.C +0.7 +0.7
8 31 7041 XA &£ @) 4.77 5.26 5.21 5.26
1Y% nvb /A +0.5 -0.1 +0.C -0.1
9| 32| 7283 &M 8h&H(3) 4.77 5.26 5.04 5.26
Y8 agtq ZBEN -0.1 -0.3 -0.4 -0.3
100 34 7415 &K ZEE (3) 5.1C 5.22 5.11 5.22
iy E A EVES KH +0.1 -0.1 +0.1 -0.1
11 24| 5715 =k FE= Q) X 5.19 4.9¢€ 5.19
Wiy MLEV)Y) 71 -0.4 -0.2 -0.4
12) 25| 4652 80 &= (2) 5.14 5.12 4.9% 5.14
EY"F 1k LFHAZFEM -0.3 +0.& -0.¢ -0.3
13] 33| 4675 /h#k BEE(3) 5,13 4.95 4.81 5.13
nTy by tHER -0.3 -0.5 +0.3 -0.3
14, 28 8042 &+ @3 (2) X 5. 08 X 5.08
454 h4b EHEH -0.7 -0.7
15) 23 M3 EK IE©2) 5.07 4.78 5.04 5.07
Y% V1Y = +1.1 +1.1 -0.2 +1.1
16/ 26 8321 #kiE ZE (3) 4.93 5.0C 5.00
TE T YN H g1 +0.C +1.C +1.0
170 13 7585 /p#y K (3) 4.63 4.8C 4.8% 4.85
vy Yavy [f] 2 75 &5 -0.¢ -1.3 +0.C +0.0
18] 18 8599 #\ZE Z4E(3) 4.41 4.87 4.53 4.82
¥ D a9% fododne +0.8& -0.7 -0.3 -0.7
19) 29 8142 #H 1 (2) 4.45 4.75 4.79 4.79
Thng 4 FIBEER -1.3 -0.3 +0.2 +0.2
20/ 35 6891 7m:ZE E(3) X X 4.79 4.79
=AY —®#E +0.C +0.0
200 17| 6074 B #5#t(2) X 4.7¢ X 4.79
MAD 19% t=% +0.5 +0.5
22| 16| 6467 =H #&iW (2) 4.7¢8 4.69 4.62 4.78
T 294 5 -0.7 -0.7 -1.3 -0.7
23 5| 7243 Rk 1 (2) 4.67 4.47 4.6C 4.67
1M 9y REF -1.1 -0.4 -0.2 -1.1
24, 19 1870 & (2 4.31 X 4.55 4.55
9347 4hY FHEE -1.2 -1.¢_ -1.0
25 7 6703 & &3 Q) X 4.5C 4.39 4.50
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26/ 12 6339 ExR #4 (1) X 4.39 4.47 4.42
YAt Vavar & +0.5 +0.7 +0.7
21 4 5095 & k& (2 4.42 4.17 3.9€ 4.42
Ny Ya9a e -0.8& +0.2 +0.8 -0.8
28 10 7346/2HA #\EQ) 4.35 4.37 4.09 4.37
9349 h4k Il -0.8& +0.1 +0.C +0. 1
29 3 M2T R FE() 4.11 4.05 4.32 4.32
Y5y WF 22p%Y -0.8 -0.5 +1.4 +1.4
30 1 6323 FHH =& Q) 4.28 4.06 4.08 4.28
EVZ PRl REHE -0.3 +0.7 -0.€ -0.3
31 6 6298 Ei& E&£(2) X 4.2€¢ 4.1C  4.26
VRV AEHE +0.6 -0.4 +0.6
32 14 6638 3{xO FEA(2) 4.02 4.23 X 4.23
9" F HHb 28 +0.5 -0.3 -0.3
330 11 7771 &% EARER() 4.15 4.13 X 4.15
yh a9y Bl -1.¢C_ +0.1 -1.0
34 9 6477 =% (1) 3.73 3.35 3.83 3.83
o0y b ERILE +0.4 -0.1 -0.4 -0.4
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1 21 81711 FE EEQ) 5.82 5.87 X 5.82
Y2847 yu1 5= +1.1  0.C 0.0
2 9 5098 ELL F1E Q) 5.7C 5.53 X 5.70
5% B2 Y e -2.5 0.C -2.5
3 19 8029 & #\IH () 5.49 5.45 5.54 5.54
'Y 493 =] -1.7 -1.5 +0.4 +0.4
4/ 18 7153 #fK EE(3) 5.25 5.53 5.47 5.53
L3Eb 743 [1ipul -2.C +0.4 -0.9 +0.4
5/ 17 5491 XiF &4 (3) 5.27 5.35 5.04 5.35
THyh 19% EHEE +1.4 +0.1 -1.1 +0.1
6/ 20| 4511)5&=@k H ) 5.31 5.23 5.1% 5.31
N9 EhN HFI +0.7 +0.3 -0.4 +0.7
7 11 7853/ LU BE(3) 5.05 5.09 5.2C 5.20
A Y RIg -1.C_+0.4 -0.5 -0.5
8 T 4157\ KA FiE 1) 5.18 5.0C 5.1% 5.18
¥ 290 & A +2.1 -0.5 -1.€ +2.1
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3349 Y94 INEER +0. 3 +0.3
11 4] 6720 @ FiL () 5.07 4.1 X 5.07
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31 31 7231 FF &EA(2) 3.67 3.62 3.7% 3.75
YE8 45 Thb EE -1.4 +1.0 -1.4 -1.4
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734 %3vm9 e -0.4 +0.¢ -2.1 -0.4
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Y b [FEAE +0.6 -0.9 -0.& +0.6
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31| 13 8607|#& ik BE¥R(1) 240 | 300 | 363 | 363
) VRVl #ra -15  -08 | -14 | -14
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